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T neighbor.

class if you

1. Ax>+6x2-Tx+5, cubic, 4, 3 11 HWAnswer Key

2.3x?-4x+5, quadratic, 3, 2

3. 15x°+4x2-x+5

4. -15x3+2x2+5x+5

5. -3x2-7x+14

6. -9x%+3x-3

7.9x%-3x+3

8. 6x*+27x3-18x%

9. -6x%y-2x%y*+10x°y2-4x%y?

10, ~y*-2y3z+xPy2+x3-xy?-2xyz

11.2y2-32

12. 21a2-29ab-10b?

13. -4x%+23x?-12x-15

14. When multiplying two polynomials, multiply each term of
the first with each term of the second.

Sep 10-3:18 PM

1. Write 6x*s4x*-7x+5 in standard form.

Standard form: 4% 7+ b= 5

Identify: name: ( w € leading coafﬂci:nﬂ_’i, dcgru:i
2. Write 5 +3x™-4x in standard form.

Standard form:_% £ = +5

Identify: mme:%mﬁdﬁrlmdmg coefficient:_3  degree:_oh,

Add or subtract. Write your answer in standard form.
(342xBp(15xd-3x) = | S ZHYK X TS

w

ks
(BB I5nE-3 = 2 TS =) 5 A PR ETIK
BT SN e =1~

-

o

(-39 (5T = —BX =TT

Subtract (@x-3x+9) from (6-7x)= (o~ Tk )= ( AxI=Zc + )
(oK =R + 3k ~F
= -G +3%-3

o

From (2x-3x+9) subtract (6-7x7)= {1y =3y +4 ) = (b 7x‘L)
= gxt-ixtqd =6 TIX

= Grrmx D

~

Itipl rite in standard for:
8. 3x7(2x7+9x-6)= 6;(‘1' 21X 3= h?/(?-

Sep 1-4:06 PM

1-2: Dividing Polynomials

Using Long Division to Divide Polynomials

. B’!:ﬁm‘!t Lﬁv O INPIN is amethod for dividing a
‘polymmial by another polysiomial of a lower degree.

o Itis very similar to dividing ﬂ.LAM

Arithmetic Long Division Polynomial Long Division
Diyisor_23«— Quotient Divisor  2x+3<—— Quotient
“\12)277«— Dividend v+ 2)24% 4 7x + 7«— Dividend
Ul 202 4 4x
37 347
- jh 3x+6

1<«— Remainder

23R ' 334,

‘We can think of long division as follows:
F(x) + 6(x) = Q(x) with a remainder of R(x)
where F(x) is the _D)ju idlsad G<><)J £ (X 3
6(x) is the d \iSer :
e o o
and R(x) is the W K ( 7(3
How can you check your answer? Check both answers.

mb\H'PIH Uonr %U\O‘FV/H' w'r'H\ 'H\-Q Ofl'w.Sor-
3‘;"‘ Sl\ao\u pr'oo{ntg +he olllu;'o‘eno?

Aug 13-2:03 PM

Aug 13-12:39 PM

T T S Y i B ML (S

10.6¢-2yz-y2)yee 4 20 L";;a'#‘?_) +)<(XL='1;, ® } )
= }3 2 E—&"‘#-xs fh;l_% —xy,
= ng ) FrP=AY =dny T

11, (2y-8)y+4)= ;91- +r3_ - Eat* 2 = ;;L =N

n
12.@a-Bb)Tas2b): 2ot Hoab-2Sab = b
=2 \a* -29ab -10b*>

13,3 « 3x- 4 x-5)= X (3 B - 5()4'*3""‘{?‘1)
= 5)(45}< ‘1‘)(*5 15 «19% 0K =
= Y 23 —ax =15

14, Explain double distribution.
Matol uoed %M»@uw e
o by each

& " mgs'fsw e
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Example 1: (2x3 —4x2+2) = (2x-2)
2:°-4x* +0x+2_

Step 1: Write the polynomial in standard form.
Include missing terms with a zero coefficient.
ncluce missig terms with a zero coeflicient.

x"’“ x =
Step 2: Write in long division format. Q X Q "f
-4+ Oxs 2

Step3: Divide first terms. _L(ZX_Z) T ( 319)( )l

Step 4: Multiply. %f
Steps: Sublractyandbrmgdowmhenexttelm XQ’( ‘9) Toly 1'2)(
Step 7: Check and write answer. —] (ZX —2) '%:_& )
(@xdxtx-1) O
Ax(Ex-1)-Qx2x-|
5—*3% P32 0428 +?:)>< 2
R0 3) o 3w A2V
By ©
D63) “3x9_Cehesd)
~ 0 « +%x+ax+q
X +6x+9J
Aug 13-2:04 PM

Example2: (x2+6x+9) +(x +3)
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Example 5: (x2+8x +19) +(x +5)
Example3: (y3-27) +(y-3) 5
_tL+ Sy49 X ) 2
v-3 y «dj +Oj—2’—? =X t&ﬂ—\ﬁ X+ + 4
P x (xs) x45x L xr
N xtlg
e Shxvs) s
Example4: (11y2— 1+5y3+2y) (2y+ﬂlgT Example 6: (5x2 - 10+2x‘ +5x) +(2x—1)
>< - '5>< £4
3 L
33 (Q/H 3 2(’&_0 ;) ’5+ ‘L )
(ax {—5)( K 3y - o
sy ~Hies Sty e e
“}(Zyﬁ) _}%1_)/_ 407 | \ZJO
0O X= ) 8>§_6
Aug 13-2:04 PM Sep 1-3:11 PM
‘Write a noteto a friend explaining how to use longdivisionto find the quotient below.
(2x2-3x-5) =(x+1)
Aug 13-2:05 PM Sep 3-8:46 PM
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